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HERADEXEEZESIE—E

RENFESE | BEER |rE2aEn

(BEMEICGER T EE)

BEMRESE

E ERE+BARMEY [ 6.1ha ERE+EARMEY [ 7.8ha
FTE Z+hoEOTL | 5.6ha Z+hEAOY 7.3ha
=E e 5.8ha B2 6.0ha
BT PR 4 (FT0) + BB+ ARE 3.1ha PR (SE5) + B AR R RHE Y 3.9ha
FIAE ERE+BARMEY [ 3.9ha BRE+EEEY | 3.9ha
FAE KiGEEHAEYZ|  3.7ha KFEEEHEEYE|  3.7ha
RRE H#E+CE>AEE|  4.7ha HE+CES>+AT+E|  4.9ha
FRIE BEK AT BT R 5.0ha (EE KA T BB R 5.1ha
FRIE B+ ASEEY|  3.ha B+ PR 2+ AR 1.7ha
FE ERE+EARMEY [ 2.1ha ERE+EARMEY [ 5.2ha
FIFAE KFGEEHAEYZ|  2.8ha KFEEEHEEDE|  2.8ha
FRIE w4 (R sE|  0.6ha w4 () s%E|  4.7ha
FRIE BT ra—>|  0.0ha BEHT Fa—>| 26ha
FE 2R Ewos|  4.3ha R ETwos|  4.3ha
FAE KiGEEHAEYZ]  1.8ha KFEEEHEEDE]  2.3ha
FAE FESHAEYZ]  0.5ha KFEEEHEEDE]  2.2ha
FAE FESHAEYEZ]  1.3ha KFEEEHEEDE]  2.2ha
FAE TESHAEYE]  2.3ha KFEEEHEEDE]  2.1ha
FAE FESHAEYE]  2.2ha KFEEEHEEDE|  2.2ha
FAE FESHAEYZ]  1.9ha KFEEEHEEDE]  1.9ha
FAE TESHAEYE|  2.5ha KFEEEHEEYE|  25ha
LEES KEEEE-AEME|]  0.1ha KFEEEHEEDE|  2.8ha
FBIE BRE 1.9ha BE 1.9ha
FE BE-GEEHED kTR 11.7ha BREFEHEM KT 10.4ha
FE EFHF+IERATEER| 3.5ha EF+HER+ES|  4.0ha
FE K EEAEME|]  1.3ha K EEHaEME[  1.7ha
FE 1 5% B e+ K FiE 1.6ha ite 5% %5 32 + oK Fid 1.6ha
2BE BB IR S WCS 9.8ha EmsEmRHEwes| 13.4ha
FE Z 8.4ha Z 8.2ha
FE KiEEEAEME|  1.5ha KiaEEHEEME|  1.6ha
FAE KiGEEHAEDZ]  1.6ha KAEEEHEEDE]  1.6ha
FE FRE+EREEY | 2.2ha EREEARMEY [ 2.2ha
FE KiEEEAEME|]  0.4ha Kia-EEHEEME|  15ha
FEE IKFE+TES 0.0ha IKFE+TESE 1.5ha
ZE FE@BEEAEEY]  1.5ha FEGBEEREm|  1.5ha
FE Z 3.7ha 2 3.7ha
FE R4 (BhE) 0.0ha A A4 (BIE) 2.0ha
FHRE KiGEEHAEDZ]  0.5ha KAEEEHEEDE]  1.4ha
2BE TR O B 1.3ha TR VA B 1.3ha
FEE KiREEHAEDZ]  1.3ha KiEEEHEEDZE]  1.3ha
= FRE+FEMFFE|  10.6ha FRE+ T FFEE|  27.2ha
FAE KiEEEHAEDE]  2.2ha KFEEEHEEDE]  2.2ha
FAE KiEEEHAEDZ]  1.2ha KAEEEHEEDE]  1.2ha
FAE KiE+EEHAEDZ]  0.0ha KFEEEHEEDE]  1.2ha
FAE KR EEHAEDZE]  1.2ha KAEEEHEEDE]  1.2ha
FAE KigEEHAEDZ]  1.1ha KiEEEHEEDE]  1.1ha
FAE K EEHAEDZ]  1.1ha KiEEEHEEDE]  1.1ha
EJES K EEHAEDZ]  1.1ha KiEEEHEEDE]  1.1ha
FAE KiEEEHAEDZ]  0.9ha KiEEEHEEDE]  1.1ha
FAE K EE-AEDZ]  1.1ha KiEEEHEEDE]  1.1ha
FAE KiEEEHAEDZ]  1.2ha KFEEEHEEDE]  1.2ha
= K EEHAEDZ]  1.1ha KiEEEHEEDE]  1.1ha
FAE KiEEEHAEDZ]  1.2ha KFEEEHEEDE]  1.2ha
= T B 0.5ha SHEMEE 4.3ha
FAE KiE+EEHAEDZ]  0.8ha KFE+EEHE%EDE]  1.0ha
Eﬁ KEEHBE % wos IR B (1 F) 6.3ha KRGS R A4 wcs R IPR (1 FT) 6.3ha
FIAE K EEHAEDZ]  1.1ha KiEEEHEEDE]  1.1ha
FEAE KiEEEHAEDZ]  0.0ha KFE+EEHEEDE]  0.9ha
2 IERMLEISRRTETE) 1.3ha IEEMLEL ISR ZFETE) 1.3ha
B KiEEEHAEDZ]  1.8ha KEE+EEHEEDE]  1.8ha
7= KigEEHAEDZ]  1.1ha KiE+EEHEEDE]  1.1ha
FAE KiEEEHAEDZ]  1.0ha KFE+EEHEEDEZ]  1.0ha
B B EEYrwes 2.6ha B2+ EHE Y +wes 4 8ha
FAE KiE+EEHAEDZ]  05ha KFE+EEHEEME]  0.8ha
2 HEHOKTB B KT+ BHE 8.6ha HHEOKT A RTHE 8.5ha
B KiE+EEHAEDZ]  0.8ha KFE+EEHEEDE]  0.8ha
B 2t (OF2) 1.2ha B2 (TIF2) 1.2ha
FAE KiEEEHAEDZ]  0.7ha KEE+EEHEEDE]  0.7ha
B KiEEEHAEDZ]  1.2ha KEE+EEHEEDE]  1.2ha
B KiEEEHAEDZ]  0.7ha KEE+EEHEEDE]  0.7ha
B ThFRokFEAEK|  0.0ha Bt B K TR BAELK 2.6ha
B FEEAE)EREY]  0.6ha FEEAEHEAEEY|  0.6ha
B TEE+FEFSE |  0.6ha FE{E+EEMEFR |  0.6ha
7= KiEEEHAEDZ]  0.6ha KFE+EEHEEDE]  0.6ha
FAE KiEEEHAEDZ]  0.0ha KiE+EEHEEDE]  1.3ha
= HEE+E1E 1.0ha HEE+EE 1.8ha
2 JKiE+HEEE+wes|  10.1ha JKFE+ERE+wes|  11.3ha
Bl HEoKEBRHEE|  4.0ha H#EOKRBhHRE|  4.0ha
= FRE+<vd—|  1.7ha FRE+3od—| 43ha
FIAE KieE=-EEDE]  0.4ha K EE-REDE]  0.4ha
= EES 0.4ha SEES 2.7ha
= TR 0.7ha T IR 0.7ha
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Kig+EEHEEYE|[  0.3ha KEEEEAEYE[  0.3ha
RS+ ARE]  10.2ha PR+ ATE|  10.8ha
FESRBF (TN ok FE+E 2.8ha AR BRI (78 M) + KR+ % 3.1ha
Kig+EEHEEYE|[  0.3ha KEEEEAEYE[  0.6ha
Kig+EEHEEYE[  0.2ha KFE+EEHEEE 1.7ha
KFETEEHEEYNE]  2.2ha KEEEEREYE[  2.2ha
B+ KRR+ PO A+ AAHE D) 8.5ha BEokREREEn|  15.2ha
KiE+E=HREYE 0.7ha KE+E=EHREMEF 0.7ha
EZ-EAR+EHERE| 0.7ha EZ-EAR+EFRE| 0.5ha
KR AP 4 (B + SRR B wos 17.9ha KFR A A4 (00 + A B wos. 17.9ha
KFE+XZ+HEAMKE|  5.3ha KFE+ RE+HEARBME|  5.3ha
KFE+EEHEEME[  2.1ha KFE+EEHEEME|  2.1ha
KFE+E=HEEMF 1.6ha KFE+EEHEEME[  2.1ha
KiE+ZFES 2.1ha KE+ZIFES 2.1ha
KFE+E=HEEMF 1.8ha K+ E =+ EEME 1.8ha
BIEEXEIT) 1.8ha REEXEIT) 1.8ha
KFg+BE=HEEMF 1.6ha K+ E =+ EEME 1.6ha
i 0.0ha K+ B =+ EEME 1.7ha
1.2ha JKFE+HEER B3 (FAIR) 1.2ha

11.9ha = 16.2ha

1.1ha K+ E=+EEME 1.1ha

1.0ha K+ E =+ EEME 1.0ha

1.0ha K+ B =+ EEME 1.0ha

0.5ha KFE+E=+EEME|  0.8ha

Kig+E=HEEMEF[  0.8ha KFE+EE+EEME|  0.8ha
MER B 0.6ha e 7 5 0.6ha
ERE 3.9ha B = 5.8ha
AAF+HEHKE|  4.9ha PR4+EAHME|  4.9ha
ERE+EFIRHMEY | 1.5ha ERE+EGEEY | 4.9ha
KFEEEHEENE[  2.7ha KFE+EEHEEME|  2.7ha
KFE+E=HEEME[  2.6ha KFE+EE+HEEME|  2.6ha
BB A ERED 5.2ha R A A+ RHEY 5.2ha
KFE+EEHEEME[  3.2ha KFE+EE+HEEME|  3.2ha
LA RIEH AR E 1.8ha FLEFEHARKE|  2.0ha
KFE+E=HEEME[  2.0ha KFE+EE+HEEME|  2.0ha
KFE+E=HEEME 1.9ha K+ E=+EEME 1.9ha
KFE+E=HEEME 1.3ha K+ B =+ EEME 1.3ha
=z 0.0ha Z 2.8ha

KA+ R BB R wos 2.7ha KR R BB R wes 2.7ha
KFE+E=HEEME[  0.1ha K+ E =+ EEME 1.9ha
B KT AT wos 1.6ha B KR E D wes 1.6ha
KFE+E=HEEME 1.2ha K+ E=+EEME 1.2ha
X 4.9ha EEFE 4.9ha
KFE+E=HEEME 1.7ha K+ E=+EEME 1.4ha
KFE+E=HEEME 1.3ha K+ E=+EEME 1.3ha
BREHAREDKTE[  6.4ha B AEEY KRG  6.4ha
KiE+E=HEEME[  0.8ha KFE+EE+EEME|  0.8ha
KFE+E=HEENE 1.0ha K+ E =+ EEME 1.0ha
KFE+E=HEEME 1.0ha K+ E =+ EEME 1.0ha
KFE+E=HEENE 1.0ha K+ E =+ EEME 1.0ha
Fa 0.9ha Z 0.9ha

MEER X 0.8ha I EREF R 0.8ha
KiE+EEHEEME[  0.8ha KFE+EE+EEME|  0.8ha
KFE+EEHEEME[  3.0ha KFE+EE+EEME|  3.0ha
KFE+EEHEEME[  0.5ha KFE+EE+EEME|  0.5ha
KFE+E=HEENE 1.0ha K+ E =+ EEME 1.1ha
EXEEE] 0.5ha EXEEE 0.5ha
ok EEAZ5%|  9.6ha maokiEexz 5% 10.3ha
HEY 0.3ha HFEY 0.3ha
JKFE+IEER B R +wes 1.6ha JKFE+ B ER B R +wes 1.6ha
BB E 0.6ha EHhEFR 1.7ha
KFE+E=HEEME 1.4ha K+ E =+ EEME 1.6ha
B KT T wos 4.2ha B KA HEHE D wes 3.7ha
Eaoki+Exz+5%|  12.0ha EEokE+ AT HE]  11.1ha
ER=+EAEMEY | 59ha BRE+EARHMEY) | 5.6ha
ER=+EAEMEY [ 3.8ha BRE+EARHMEY) | 5.9ha
mwHEokiEErxz|  5.0ha EieHEokiE-EkE|  5.2ha
RE 3.0ha [ 4.1ha
BRI A+ RS 5.3ha BER+ARS+FEF 5.3ha
JKFE+HEEREFR | 3.8ha KFE+HEEREFR | 4.3ha
JKFE+E#i+wes|  5.5ha JKFE+E #i+wes|  5.8ha
TR +KTR+EE 3.8ha THE R+ KT+ EE 3.6ha
Kig+EEHREYSE 3.6ha KiE+E=EHRENE 3.6ha
KFEER B (B +wos| 2 9ha KA+ R B3 (B ) +ws| 2.9ha
Kig+EEHREYSE 3.0ha KiE+E=EHRENE 3.0ha
Kig+EEHREYSE 2.9ha KiE+E=EHRENE 2.9ha
AEkfEwest kg2 2.7ha KEkfiwes+kg+2iE|  4.4ha
KTEHER B+ ERMEY|  2.5ha KFE+ER B+ ERMEY|  2.5ha
KA+ E AR TR () 2.4ha KA+ E AR B R () 2.4ha
Kig+EEHREYSE 2.3ha KiE+E=EHRENE 2.3ha
BHHRHKEEEAZ]  22ha FHR+KEEEAZ|  2.2ha
T+ KFE+wes 0.0ha FHFE + KFE+wes 2.1ha
Kig+EEHREYSE 0.8ha KiE+EEHRENE 2.0ha
P4 (%E08) + KT+ R 5 0.4ha P4 (%) KRR+ B E R 2.3ha
JKFEHTES 1.9ha KFE+TESE 1.9ha
Kig+tEE+REYSE 1.8ha KiE+E=EHRENE 1.8ha
Z 0.7ha Z 4.5ha
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FEES KiE-EE-AEME]  1.6ha Kig-EE+aEMmE]  1.6ha
FEES KiE-EE-A%EME|  2.0ha KigE=+aEMmE|  2.0ha
HENADNSDBAE KiE-EE-AEME|  1.5ha KigE=+a%EMmE|  15ha
FE KFE+A2+BHEHE|  1.0ha K A2 +BEHE|  1.4ha
FE TR BMBHE|  1.6ha MR RMEHRE|  1.3ha
Eﬂf? KAE + PO 4 (SE50) B RHEY 1.5ha IKFE+ R4 (590) +SE e 1.5ha
EEES KiE-EE-AEmE]  1.3ha KigEE-aEmE]  1.3ha
FEES KiE-EE-AEmE]  1.3ha KigEE+aEmE]  1.3ha
FRIE B K wes | 1.4ha BRI wes | 4.0ha
T K+ BRER+E=|  3.3ha KiE+ BRHR+E=|  3.5ha
NSNS AE KEEEE-AEME]  1.2ha K EEHaEMmE]  1.2ha
FIAE KEEEE-AEME|]  1.2ha KiaEEHaEME]  1.2ha
NSNS AE KiEEE-AEmE]  1.1ha KiaEE-aEmE]  1.1ha
NSNS AE KEEEE-AEME|]  1.4ha KiaEE-aEmE]  1.1ha
FAE KEEEE-AEME|]  1.2ha KiaEE-aEMmE]  1.2ha
FAE KiEEE-AEmE]  1.1ha KiaEE-aEmE]  1.1ha
FE JKFE+E1E 2.6ha IKFE+ZAE 2.6ha
FE FTRIE+BEREFR | 0.2ha FEiE+EEREF3 | 0.9ha
FIFAE KiGEEHAEYZ]  1.0ha KFEEEHEEDE]  0.7ha
2E pIA s (n) sEem|  3.9ha A4 () AkEm|  3.9ha
FIAE KiGHEEHAEYZ|  0.5ha KFEEEHEEYE|  05ha
FE EHOEY) 0.5ha EBOErY) 0.5ha
RTE =K 0.5ha =K 0.5ha
ERTE ERGEREmEE]  24ha R ERemEE]  3.6ha
FEES KEEEE-AEME|  0.4ha KiaEE+aEME|  0.4ha
FAE KFE-EE-AEMZE|]  0.0ha KiaEE-aEmE]  1.1ha
FE KFE+ZEVE+TEE]  0.2ha KFE+E e+t =| 4.5ha
FE wEHE+EBEE|  0.2ha mEFE+HBBFE|[  0.3ha
EE KiEEEAEME|  0.3ha KiaEEHE%EME[  0.3ha
FHEE KiEEE-AEME|  3.0ha Kia-E=+E%EME|  3.0ha
FE BEHOEY) 0.4ha EBOErY) 0.4ha
BE KigeEAm +abmwes|  13.9ha KigEkm+asmwes|  13.9ha
FAE KEEEEAEME|  1.5ha Kia-EEHEEME|  2.0ha
BE ol + KR+ RA—ha— 8.1ha Pl +KFE+ RA—ha—> 8.4ha
FAE KiREEHAEDZ]  3.2ha KAEEEHEEDE]  2.6ha
FAE KiEEEAEMZE|  1.0ha Kia-EEHEEME[  1.0ha
FAE KiEEEAEME]  1.7ha K EEHaEME]  1.7ha
FAE KEEEEAEMZE|  0.9ha Kia-EEHEEME|[  0.9ha
FAE KiEEEAEME|  0.4ha K EEHEEME[  0.4ha
FE IKTE+EEREFSE | 0.5ha JKFE+EEREFS |  0.5ha
FRIE KA E e B SR wes | 3.1ha K+ E R B Rwes | 3.1ha
FAE KiEEEAEME|]  1.4ha KiaEEHaEmE]  1.1ha
FRIE JEE+KTE+HIESE|  0.1ha EEKFE+EIESE|  2.4ha
FE e 2% B = 0.1ha MEEE= 0.1ha
FAE K EE-AEmE] 0. 4ha Kia-EEHE%EME|  0.8ha
FAE KiEEE-EEmE] 0. 6ha K ExHEEME|  0.6ha
FAE KiaEE-EEmE] 0. 4ha K ExHEEME[  0.4ha
FAE KiaEE-EEmE] 0. 4ha K- ExHEEME|  0.4ha
= B+ REEY 5.0ha B2+ EREEY 6.7ha
= B+ REEY 1.8ha B2+ EREEY 4.6ha
EJES K EE-EEmE|  3.3ha K- Ex+EEMmE[  3.3ha
EE KiEEE-EEmE|  3.4ha K ExHEEMmE[  3.2ha
FAE KiEEEAEME]  2.7ha K EEHEEME|  2.2ha
FAE K EEAEME]  2.1ha K ExHaEmE]  2.1ha
= = 2.4ha = 2.1ha
FAE K EEEEmE|  2.3ha K EEHEEME[  2.0ha
FAE K EEAEME]  1.7ha K ExHaEMmE[  1.7ha
FAE KiEEEAEME|]  0.9ha K EEHE%EME[  0.7ha
2 e ER B = +KFiE 1.7ha Tte 2% Bl =<+ K Fid 1.6ha
= KiEERBRRE|]  1.8ha K ERHE+E4|  0.8ha
FAE K EEEEME|  1.5ha K ExHEEME|  15ha
EE HERBR(FRATHR+AF) 1.4ha TERBR (T RASHR+AFT) 1.3ha
FIAE KiEEEHEEDZ]  1.3ha KiE+EEHEEDE]  1.3ha
FIRE KiEEEHAEDZ]  1.2ha KEE+EEHEEDE]  1.2ha
FIRE KiEEEHAEDZ]  1.2ha KEE+EEHEEDE]  1.2ha
FIRE KiEEEHAEDZ]  1.1ha KiE+EEHEEDE]  1.1ha
FIRE KiEEEHAEDZ]  1.0ha KFE+EEHEEDEZ]  1.0ha
FIRE KiEEEHAEDZ]  0.8ha KFE+EEHEEDE]  0.8ha
FAE KiEEEHAEDZ]  05ha KFE+EEHEEDE]  0.8ha
2 HREHEHEHEA|  0.6ha HREHEEHBA|  0.6ha
2 Kt EeEE|  0.0ha KA EfeReEeEE|  0.6ha
Ebo) IR EE B = 0.4ha MERE= 0.4ha
Eoies HEE+7R/35HZX] 0.3ha HE+7 /35X 0.3ha
&% 543.2ha 663. 3ha




